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402 SI2vXHE0| ™ 6,300 0 6,300
01 QI EANSEXZ (M) 6,300 0 6,300
OAEHES XIS 6,300
228 HAXNSR (s=8 nEd) 440,000 600,000 A 160,000
= 220,000
& 66,000
= 154,000
307 2Iz2to| & 440,000 600,000 A 160,000
g 220,000




SA: PRXED
Hu: DEMH =

Sl 22 X CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 66,000
= 154,000
09 2+EAHBXS 440,000 600,000 A 160,000
O3 HAXNA 440,000
= 220,000
= 66,000
= 154,000
HHSAHAY (LRXED) 110,623 107,912 2,711
ol 2 AH| (2 X =) 79,831 77,000 2,831
Ol AHHI (22 X&) 79,831 77,000 2,831
101 21 214| 79,831 77,000 2,831
03 RINHA22XNHE %= 79,831 77,000 2,831
Ol ol 79,831
—OIAALR (1) 39,915
-EX&e (1Y) 39,916
Jl2Z 4 (2 X&) 30,792 30,912 A 120
Jl=2 A (SR =) 30,792 30,912 A 120
201 et | 23,556 24,108 A\ Bh2
01 AP 22| d| 23,556 24,108 A Bh2
OJl2+=2tl| 8,580
OPIE=T=2=3:] 14,976
202 04| 2,916 2,484 432
01 2Ll 2,916 2,484 432
O0RJXNHY JI2HRF=A 2,916
203 €2 F=&d| 4,320 4,320 0
04 EANSIELR2F=XH| 4,320 4,320 0
ORIRNHD FHSYARET
400,000& = 12&€ = 90/100 4,320
MEE=S(oIAX =) 695,252 42,300 652,952
WHWEHH XIS (I X&) 695,252 42,300 652,952
LHEAHH K= 695,252 42,300 652,952
701 JIEISI HSEHE=2 695,252 42,300 652,952
01 JIEIS HE =2 695,252 42,300 652,952
OFXANEMSELEIAH BEZ 695,252




